14 _3p 4 2r E
22, (a) 28cm (b) i3 cm/s  (¢) 4cm 7. @) g= YTy (b) -5
(b) (i) 50 (ii) 55 o
8. (a) 3b+ 2c)3a-4d)
23. (a) () 5km (ii) 10 km (b) 2(2a - 3b)
(b) x=60r-105 (¢) 71.4% (¢) (5b + 2a)(5b - 2a)
24. (¢) 1,=10,5,=30 9, x=-1.12orx=7.12
T .
L i ) e 10. (a) $2445 (b) 22.5% per year
5. @ 25 (b) 22 () 40% s 11. (a) 0.6 (b) 12 cm (© 4.73cm
Enrichment 12. (a) 110° - (b) 486 m (c) 35 708 m2
26. (a) AB=4km;BC=10km; CD=6 15 —19 G
Frombk Al QPSR D
A 0 4 14 20 14. (@) x+y=20 (b) 2x-y=22
B 4 0 10 16 © x=l4y=6 @ M4
() 14 10 0 6 15. (a) A=1{6,7,8,9,10)
D 20 16 6 0 B={1,2.3.4,56,7,8)
: () () (6.7.8) (i) 7
(d) () 12kmm
(ii) 20 km/h 16. (a) 4.47 () y=2x—-24 (&) 24
(iii) 16.2 km/h
17. (a) 30cm (b) 126 cm’
27. (@) (i) Ken
(ii) 10 minutes 18. (a) 130° (b) 50° (c) 18°
(iii) 0.8 km
(b) () 0.1 km/min 19. (@) (i) 201 (i) 86 km/h (iii) 40 km/h
(i) 0.08 km/min (¢) The spread of data in the lowest 25% is narrower.
(c) Ken; 0.16 km }q
20. b) < ®) -
28. (b) 10.30 a.m. at a place 200 km from A. 5 %
(e) At'10.15 a.m. and 10.45 am. 21. (a) -1 m/s’ (b) 0.5 m/s’
(¢) 12m/s (d) 425m
29. (a) (i) 375 m
(b) Yes 22. (a) $10600 (b) $79 500 (¢) 63.6%
) . 23. (b) 364units () —3a-3b
First Specimen Exam
Paper 1 Paper 2 ’
1. (@) 136 ) 3.07 L (@ -16 Sy
3
2. @) PxFxs (c) = d -21
() () 10 (i) 75
2. (a) ﬂf hours (b) tff.‘ hours
3. @ 1:20 (¢) (ii) 40.5 or—44.5
b) @) p:g=5:6¢:r=21:10 & & @) () 445kmh (i) 1 hour 21 minutes
(ii) 35:42:20 -2 & Tan
3. (a) $3600
4. (a) 13,6 (b) 48 -7Tn (c) —64 (b) (i) $15000 (i) $7800
(¢) $36 000 (d) $16 000
- y=% 4. (b) { }. {1}, {4} {9}, {1, 4}, {1, 9}, {4.9). (1.4, 9)
% . . () { ). (1}, (4}, {9}, {1, 4}, {1, 9], {4.9]), (1.4,
L [, 400 © @ [20 30 11)
6. (a) $2500 (b) $440 (c) $780 14 36 8 |
83
(i) (a) (8,_2) (b) (164.2)

165



